Equations

dsin (0) = mA  Double slit, 2dsin () = mA  Bragg
: : : A .
asin (#) = mA  Single slit, Opes = o (slit), Opes =1.22 D (hole)
dsin (0) = mA Dif fraction grating, Resolving Power, R =mN = A
Az =0, \, 2), 3\..

¢ =0,2m,47n,6m...  Constructive Inter ference
Ax = \/2, 3\/2, 5\/2...

¢ =m,3m,57... Destructive Inter ference
27 .
p=m (if n1 <ng) Az =\/2

= KTLA ) Ky, = N/
¢ ’ A/n

Y= 1/ 1- (U2/62)7 ﬁ = U/C7 At = ’YAt()a Ly = ’)/L

E=KE+md, E*=p’E+m*ct, E=ymc®, B=pc/E
h

p="c (photons!)

A

MmaeT = 0.2898 x 1072 m K,
Einreshold = © (Work Function)

P, KEnar = eVStOpv

KEmar = Ephoton -
p2

(1 —cos(0)), KE:%

)\scattered - Aincident =
MeC

h h
A = —(DeBroglie)
p

AzAp, > ﬁ, AEAt > —,
4m 47
(HYDROGEN): L =""(Bon), E,— K1 h
. = — onr = — J— a, = —————
47_[_ 9 n 2(1,0 n27 o (27T)2m6K62
Constants

h = 6.626 x 1073 s he — 1239.8 ¢V nm
1eV =1.6022x 107197
Melectron = 90.11 x 10_31 ]fg

2.9979 x 10® m/s
= 1.6022 x 10719 ¢
me & = 0.511 x 108 eV



